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EXERCISE # 1
 A.   
Q.1   
 (i) 5x2 – 8x + 12  (ii) 3 + 4x – 7x2 
 (iii) 8x2 – 15 (iv) 8x – 15 
 (v) 8x3 – 3x  (vi) x2 – 5 x + 2 3  
 (vii) 3 x2 – 10x – 5 3  
 (viii)  7 – 5 x – 3 x3 
 (ix) 15 x2 – 5 x + 7  
 
Q.2 

 : 
 (i) x = 3  5x2 – 7x + 2 
 (ii) x = – 1  x2 + 15x – 4 
 (iii) y = – 2  2y2 – y + 2 
 (iv) y = – 3  3y + 8 – 2y2 
 (v) x = 2   2 x2 + 3x + 1 
 (vi) x = – 4  x3 – 3x2 + 5x + 2 
 (vii)  x = 2 2   5 2 x3 + 2x2 – 2 x + 1 
 
Q.3  ‘m’  : 
 (i) x = – 2 4x2 – 3mx + 5 

 
 (ii) y = – 5  7 + 4 (m + 2) y – y2 

  
 
Q.4   
 (i) x2 – 9x + 5 = 0 (ii) x2 – x

3   = 2 
 
Q.5   
 (i) x – x

3   = 2x2 (ii) 15x2 + 27x –33= 0 
 
Q.6   
 (i) 3 x2 + 8x = 3 2  
 (ii) 8

7 x2 –  5
3 x + 7

5   = 0 

Q.7  x = – 3
2   x = – 3 3  

 : 
  3 x2 + 11x + 6 3  = 0 
Q.8  x = 5 

  
          5x4x2 2   – 4x4x2  = 2x3x121   
 
Q.9  ‘m’ 

 
 (i) (2m + 1) x2 + 2x – 3 = 0; x = 2 
 (ii) 3x2 + 2mx – 3 = 0; 2x – 1= 0 
 (iii) x2 + 2ax – m = 0; x + a = 0 
 

Q.10  x = 2
1   x = 2

3  2x2 
– 5x + 3 = 0 . 

 
(Q.11  Q. 27)  

Q.11 x2 + 5x + 6 = 0 
 
Q.12 x2 – 8x – 33 = 0 
 
Q.13 x2 + 4x – 32 = 0 
 
Q.14 x2 + 5x – 6 = 0 
 
Q.15 x2 – 5x – 6 = 0  
 
Q.16 x2 – 5x + 6 = 0 
 
Q.17 5x2 – 2ax – 3a2 = 0  
 
Q.18 x2 + 8x = 0 
 
Q.19 3x2 + 2ax – a2 = 0  
 
Q.20 4x2 – 25x – 21 = 0 
 
Q.21 10x2 – 7x – 12 = 0 
 
Q.22 8x2 – 2x – 3 = 0 
 
Q.23 3x2 – 7x – 6 = 0 
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Q.24 x(4x – 7) = 0 
 Q.25 x(x + 1) + (x + 2) (x + 3) = 26 
 Q.26 x(x – 1) + (x – 2) (x – 3) = 42 
 
Q.27 4x2 = 25 
 
Q.28 

 : 
 (i) 3x2 + 2x – 1 = 0 (ii) 4x2 + 3x – 1 = 0 
 (iii) 6x2 – 5x – 6 = 0 (iv) x2 – 6x + 9 = 0 
 (v) 2x2 – 5x + 5 = 0 (vi) 3x2 + 7x + 3 = 0 
 (vii) 4x2 – 4x + 1 = 0 (viii) 5x2 – 8x + 2 = 0 
 (ix) x2 + px – q2 = 0 
 
Q.29  : 
 (i) x2 – 3x + 1 = 0 (ii) 4x2 + 3x – 2 = 0 
 (iii) x2 – x + 1 = 0 (iv) 9x2 – px + 2 = 0 
 (v) ax2 – 3x – 5 = 0 (vi) 4x2 – 5x + c = 0 
 (vii) 2 x2 + 5 3 x – 2 2  = 0 
 (viii) 3 5 x2 – 8x + 2 5  = 0 
 
Q.30 

 : 
 (i) 2x2 – 7x + 4 = 0  
 (ii) 3x2 + 4 2 x + 9 = 0 
 (iii) 2x2 + 5 3 x – 3 = 0 
 (iv) x2 – 2 5 x – 15 = 0 
 (v) 5x2 – 10x + 3 5  = 0 
  B.   
  (

)  : (Q.31  Q.37)   
Q.31 x2 – 2 5 x + 1 = 0  
 
Q.32 4x2 + x – 5 = 0 
 
Q.33 9x2 + x +15 = 0  
 
Q.34 x2 – 5x + 7 = 0 
 
Q.35 x2 + 4x – 9 = 0  
 

Q.36 2x2 – 5x + 3 = 0 
 
Q.37 5x2 – 6x – 2 = 0 
 
 

 (Q.38  Q.45) 
Q.38 x2 – 2 2 x – 6 = 0 
 

Q.39 6 x2 – 4x – 2 6  = 0 
 

Q.40 3 x2 + 11x + 6 3  = 0 
 
Q.41 16x2 – 1 = 0 
 
Q.42 5x2 – x – 4 = 0 
 
Q.43 4x2 – 7x + 3 = 0 
 
Q.44 x2 = 3x  
 
Q.45 3x2 – 5x = 0 
 
Q.46  p 

 : 
 (i) px2 + 4x + 1 = 0 (ii) 2x2 + 3x + p = 0 
 (iii) 2x2 + px + 3 = 0 (iv) 3x2 – 2px – 5 = 0 
 (v) 2px2 – 6x – 3 = 0 
 
Q.47 

 : 
 (i) x2 + 6x + 6 = 0 
 (ii) x2 – 3x + 4 = 0 
 (iii) 4x2 + x – 3 = 0 
 (iv) 9x2 + 30x + 25 = 0 
 (v) 4x2 – 12x + 9 = 0 
 (vi) 3x2 – 3x + 1 = 0 
 (vii) 3x2 – 3x – 1 = 0 
 (viii) 4x2 + 5 3 x + 3 = 0 
 (ix) 5x2 – 2 5 x – 3 = 0 
 
Q.48  : 
 (i) 5  – 5 (ii) 8  3 
 (iii) – 8  – 3 (iv) – 8  3 
 (v) 3   5 3  (vi) 2 2   – 3 2  
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 (vii) – 3 5   – 4 5  
 (viii) 1 + 2   1 – 2    
 (ix) 4 – 5   4 + 5  
 (x) 7 + 7    7 – 7   
 (xi) 3

23  3
23  

 (xii) 2
54    2

54   
  C.   
Q.49 ‘m’ 

(4 – m) x2 + (2m + 4) x + (8m + 1) = 0 
 

 

Q.50  ax2 + 7x + c = 0 
 –1  1  ‘a’  ‘c’ 

 
 

Q.51  ax2 – 3x – b = 0 
 6  – 8  ‘a’  

‘b’  

 

Q.52 p   
3x2 –px – 6 = 0  3 

 
Q.53     2x2 + 5x – 4 = 0

 
 (i) 2 + 2 (ii) 2 + 2 – 3 – 3 
 (iii) 2 + 2 – 4 (iv) 3 + 3  
 (v) 

  + 
  

  
Q.54     x2 – 6x + 1 = 0 , 

 :  
 (i) 2 + 2 (ii)  4 + 4 
 (iii) 3 + 3 (iv) 2 + 2 – 2
 
Q.55  p 

 :  
 (i) 2x2 – 7x + p = 0  
 (ii) 6x2 + 12x – p = 0 
 (iii) px2 + 4x + p = 0   
 (iv) 2px2 – 20x + (13p – 1) = 0 
 (v) 3px2 + 18x + p = 0 
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ANSWER KEY 
A. :   
1.  (i),  (ii),  (iii), (vi), (vii), (ix) 2. (i) 26  (ii) –18  (iii) 12  (iv) –19 (v) 5 2  + 1  (vi) –130  (vii) 173 
3. (i) – 2

7   (ii) – 10
29     4. (i)   5. (ii)   6. (i), (ii)  7.  

8.        9. (i) – 8
5  (ii)  4

9  (iii) – a2   
10. [  x = 3/2 ] 
11. –3, –2  12. 11, – 3  13. –8, 4   14. –6, 1  15. 6, – 1  16. 3, 2  17. a, – 5

a3  
18. 0, –8  19. 3

a , – a  20. 7, – 4
3     21. 2

3 , – 5
4   22. 4

3 , – 2
1   23. 3, – 3

2   24. 0, 4
7  

25. 2, – 5  26. 6, –3  27. 2
5 , – 2

5   
28. (i)  ( )  (ii)  ( )  (iii)    
 (iv)  (v)       (vi) 
 (vii)  (viii)     (ix)   
29. (i) 5  (ii) 41 (iii) – 3  (iv) p2 – 72 (v) 9 + 20a  (vi) 25 – 16c (vii) 91 (viii) –56  
30. (i) 2

7 , 2    (ii) 3
24 , 3  (iii) 2

35 , – 2
3   (iv) 2 5  , – 15 (v) 2, 5

53   
B. :  
31. 5  + 2 , 5  – 2  32. 1, – 4

5     33. no real root.   34.  2
75,2

75   

35. 1, 5  36.  1, 2
3    37. 5

193,5
193   38. 3 2 , – 2   39.  6

2,6      

40. 3
2,33     41. 4

1,4
1      42. 1, – 5

4     43. 1, 4
3    

44. 0, 3  45. 0, 3
5     46. (i) p  4  (ii) p  8

9   (iii)  p2  24  (iv) p2 + 15  0  (v) p  – 2
3  

47. (i) , – 3 ± 3   (ii)  (iii) , –1, 4
3   (iv) , – 3

5 , – 3
5   (v) , 2

3 , 2
3  (vi)  (vii) , 6

213   

 (viii) , – 3 , – 4
3   (ix) , 5

53    
48. (i) x2 – 25 = 0     (ii) x2 – 11x + 24 = 0    (iii) x2 + 11x + 24 = 0  
 (iv) x2 + 5x – 24 = 0    (v) x2 – 6 3 x + 15 = 0   (vi) x2 + 2 x – 12 = 0 
 (vii) x2 + 7 5 x + 60 = 0   (viii) x2 – 2x – 1 = 0    (ix) x2 – 8x – 11 = 0 
 (x) x2 – 14x + 42 = 0    (xi) 9x2 – 18x + 7 = 0    (xii) 4x2 – 16x + 11 = 0 
 C. :   
49. 0, 3                50.  a = 7, c = 7   51. a = 2

1 , b = 4   52. p = 7, – 3
2      

53.  (i) 4
41    (ii) 4

71   (iii) 4
73   (iv) – 8

245  (v) – 8
41   54. (i) 34 (ii) 1154  (iii) 198 (iv)  32 
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55.  (i) 6 8
1  (ii) –6 (iii) ± 2 (iv) 2, – 13

25  (v) ± 3 3  
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EXERCISE # 2
Q.1 k 

 : 
 (i) 2x2 + kx + 3 = 0 
 (ii) (k + 4) x2 + (k + 1)x + 1 = 0 
 (iii) (k – 4) x2 + 2(k – 4)x + 4 = 0 
 (iv) kx (x – 2) + 6 = 0. 
 
Q.2 k 

 
 (i) px2 + 4x + 1 = 0 
 (ii) 4x2 + 8x – p = 0 
 (iii) 2x2 + px + 8 = 0 
 
Q.3 k 

 : 
  (k – 1) x – 3y = 4, 3x – (4k + 1) y = 5 
 
Q.4 (i) 

 365  
 (ii)  

365  
 (iii)  306

 
 
Q.5 (i) 

 255  
 (ii)  255 , 

 
 
Q.6   

290  
 
Q.7  116 

 25 
 

 
Q.8  180 

 8 
 

 
Q.9 (i)  110 

 
 (ii) 

 60 
 

 

Q.10 14 
 20

7  
Q.11  4 

 8
1   

 
Q.12 11 

 1  56
3

 
 
Q.13 

 21
162

 
 
Q.14 

 27 
 6  

 
Q.15 

 24  18 

 
 
Q.16  45 

 5 
124 

 
Q.17 

55 

750 
 

 
Q.18  528 2 



    
 
 

Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141    25  

Edubull

 
 
Q.19  24 2  20 

  
 
Q.20 10  × 16  

120 2 

 
 
Q.21 

 5 
 3 

 2 
 119 

 
 
Q.22 468 2 

 24  
 

 
Q.23   

7   13  
 

 
Q.24  112  

50  
 

 
Q.25 

 3  
 4 

 12  (
)

 
 

12 
m 

 
 

Q.26  150  

  
5 /  

 
 
Q.27  30 /   

3600  
 40 

 
 
Q.28  18 /  

 24  

1 
 

 
Q.29 2 

 120 5  
 

 
Q.30 900 

 2 
 80 

 
 
Q.31  x  56 

 x% 
 x  

 
Q.32 (i)  26 

3 ( ) 
360  

 (ii)  40  32 

 
 (iii)  45 

 ( )  
124  
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Q.33 

4 
 

 
Q.34 B  16 A 

 15 
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ANSWER KEY 
1.  (i) 62,62     (ii) 5, –3   (iii) 8   (iv) 6  2. (i) p 4  (ii) p  – 4  (iii) p  8  or  p  –8 
3.  2  – 4

5    4. (i) 13, 14  (ii) 13, 14 or –13, –14  (iii) 17, 18 
5.  (i) 15, 17  (ii) 15, 17 or –15, –17    6. 11, 13   7. 4, 10   8. 18, 12  or  18, –12 
9.  (i) 5, 6, 7  (ii) 9, 10, 11      10. 4, 10   11. 8, 4   12. 7

4  

13.  7
3   14. 93  15. 64  16. 9, 36  17. 25 or 30  18. 33 m, 16 m 19. 6 cm 

20.  2 m.  21. 7  22. 18 m, 12 m    23. 12 cm, 5 cm 24. 336 cm2 
25.  7 m × 4 m      26. 6  27. 570 /  28. 6 /  29. Rs. 8 
30.  75  31. 40     32. (i) 7   (ii) 41  (iii) 36 , 9  
33.  32 , 4       34.  24  




